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� ������ �����	 ��
����	�
� ������ � �����
� ���	�	��� ��
��	���� �����
���	
��� 
�
�	�� ��	����	���� � ����� ��	������� ����������� ��� ��  !"#
� ��� ��
��	���	 �������	
��	 
�
�	�� ��

�������$�
� ��� �	�	�	������
�������	 ��	����
������ 
�
������� ��	�
�����	��� ���	����� ���	���� %
�	���������� ��
��� ������&# � ���	
��	 �
��� ���
���� 
���
�� 
�
������
� �� ��	����
������ 	
�	
��	��� �
���'
����' ��(��	
��� �
��  �(� ������
�� L. )� �(��������	�
� �������	
���� *�����
��� +����� ,��(� �
��� �

�����
�
�	
�� ��
����	� ���
���� 
�
������ � �� �	����# -��		 ��� ��� ,��
������ �	��	�
�� 
�# ������	�� �.!"� ���	��	� �����������	
��� 
�(������
�	��������� ��
 ������� � �	���� ��	�
�����	�� ��� ��(��	
��	 ���(�����
I � �	������� ��
���	��� ,��� 
�(������ % ����������	
��
 
�(�����	&# /��
,��� ��� �
���� ,�
�	�
�����'��� ��
� ������ E �
 I ∪ E �	 ������ ���
�����'
� ������	 ,�
�	�
�����'��	 +���� ����	 E . -������	
��� �������

���� ������ ���� ��		
����� 
������ ����� ������ ��������  !�"" #"$ � %��	�� &'��
	��
����(��)  ""�
	�*�� # �
���� �+�,���-�.�/

 




�
�	� ��	�
�����	�
� 
 �����'$ ���
��� �������	
��� ��	������� insert,
� delete, ������	 �	��
�	�
��	��� �
�	��$� ��
� ������ %����$�
� �	�����
������� �������������&# /�� ,��� �	��������	 ��
� ������ 
�������
�
�
�	��	���� 
�
�������� ��
 ������ %����������� �� &� � ��(��	
��	 ����
(����� 
����	�
���$� ������$� � �����������	 ����� �	��������� ��
 ����
���% ��� & � 0"# 1� �	�� :− G 
���$� 
�����	 ����+������ 
�
������
2-# 3�	��������� 
	������� ���(���� �
������ �� �	���	 �	
��$���# 4���
��� �	�' :− G ��������	� �	�	�	������������� ��	����� �� 
�
������� 2-

% �����������&
G

�I %��� ���
��
G

� , 	
�� I �����
��	��	�
�& ���	�	��	���

	
�	
��	���� ����
��5 E
G

�I E ′ ��(�� � ���'�� ��(��� ��(�� 
��	
���	� �
�	��
��	 �����	��	��	 I ∪E ∪{ :− G} ⇒ �, 
��	���$�		
� � 
�
������ E ′. 6���
��	������ � ���	� 
����	 �	 ����	�
�� ��
�� ��(��	
���� ��
���'�� �� �	�����
���	�5 �	������	 +����� ���
��
���$��	 � E , ��(�� ��
��
������' � E ′. 7��

������ �������	
��� 
�
�	� 	
�	
��	���� ����
�� ��
����$�
� �� ��������
��� � ������������# -���
����	 
�
������ ����������� 
���$�
� 
 �����'$
�
������ ��
���	��� ������������� ��	�������� %�� &# 3����� 89 ����$�
�
����������� ���� �� �����	� �	�	� �� ����� 
�����' �������������� �#	# ���
���� �
�������� ����	��� ������� �	 �
�	��	� 
�
������ 2-# � ��	�������
������� ������� ��� ��  !" 89 
�������
' ��
�	�
���� 
����������� ��(��	
���
���(����# � ������ �����	 �� 
������' ,�� �
����� 
��������� +��������
��(���  �(� ������� � ,�
�	�
�����'��� 
�(�����	# 4�� �������� ����+����
���� ������$��	 89� ��

���������
' ��� �	����
����	 %
�# � 0� .!� .."&# �
,��� 
�
���� ���� �
 (������ ������� ��	���(�	��(� ������� �� ������������
(�# /�� ,��� �� ��		� � ����� ������ 
�	����'��� ���

 ������	��� -2-�
� ������� ��� ��

�������$�
� ��� ���	�� ��
��	���� �������	
��� 
�
�	��
+����������$��� � �������� ��	��	� 
�	�	� � �'	 ���	�	��	 %��� � �	�����

�	��& 
���
�� �� �	������� �	
��
��# � ,��� ������	���� ��:	�� ��
������
�	
��
�� �(�����	��� � ,�� �(�����	���
�' ���	� ���' 
����� ��� 
 �����'$
�	���� ���	�	��� �������	
��� 
�
�	��� ��� � ��
�	�
���� 
����	�
���$���
89# -	�
���� �������	
��� 
�
�	� ��	�
�����$�
� ��� ����+������ 
�
����
��� 2-� 
����	��	 ���(�������# ��
�����	 �	����� ��	��	� 
�	�� �� ,��
�	�
���� ��	�
�����$�
� ��� �	��
�	�
��	���	 �
�	�	��� 
�
������ 2-# 1 �	�
� ���(�	 ��(�� �����' �� ��:	� ��
������ �	
��
��# 3�
$�� ������	�
� �
����
��	 ������	 � �������� � ��������	 �(�����	��� �	��
���
��# )� ��
����	�
��� �
������� �
�	�	��� 
�
������ 2-5 ����+������� ��
�����	 �	�
������

���� -2-� � ��	���	 ����� ���� 
�	��� � ������� ,�� -2- �	�
���	�# /��
����� �
�����	�
���� �	�
���� ����� 
������ ��(�� ��
����' �����	��� 89�
� ���(�� � ��

����������' ������	��	 ,��� �
�����# ;�

������ 
�	��$���

��	����	�'��� ����	�#

/�	��������� ��� �	������� +���� 
���$��	� ��������� � 
�����	�
�

�����	�'
���� ������ �������# <����
�������	 		 �	��	�'��
�� �����
�'$

.




���
�� �� ����	�	� 
���
�����# /����	���	 �� ��� 
���� 
���
���$�
� ��
�	����� 
�	� � ������
� �� ���	����� � �� ������� 	�	�	
����� 
������
�� 
������� %
�# ;�
#  &# � 
�
������ E0 +���� ��
����(�	� ����������
� 
����� ���# � 
�	��$�	� 
�
������ E1 ��� ������ 
������� 
����������#
=���� ����
��� �	�	��� � 
�
�����	 E2 
��
�� 
 ��
����� �	������� �	
��
��#
2����� � 
�
������ E2, +���� ������	��	� �	��������	 ���	������ 
����

��������� +����
���	 �	
��
�� � ���
���	�
� � �	����
����� 
�
������ E3.
� ,��� 
�
������ +����
���	 �	
��
� �
�	����� � �	�'
� 
��	����' ������	
�	�
���	 �� �	� ���� ���� �	 ���	� 
���$�	� � �����	� ����� ��������# =����
����
��� E3 � ,�� 
�
�����	 �������� ��������� �� 
�����	�'��� ����	# )�
����	�����	�� ��� �����	��	 ��������� �� ����	 �	 �	(�����	�
� ���������
+��������������� +����# 6�� 
�����	 ����	�
� ������� �� �����	��$ �
�	��	�'��
�� +���� � ��	�
�����	� >��
���	��	>
�	��� � ������� ��� �	��

���	�# /�
�	 �����	��� ��	��	��(� ���������� �	�	�����	(� 
�
�	�� � �����

����	 
�
�����	 E4, �� �	(�
�����	�
� %�	�	��� � 
�
�����	 E5 &� �	�'(�
���	��$�
� �� 
�	� � 
�
�	�� ��
�����	�
� � �����'��	 
�
�����	 E0. 7�	�
�����	�'��� +���� ���	� ���������' 
��$ �	��	�'��
�' ��� �
������ ��� ��
����	 ���	� ��	�'
� ��
�������	 ��
�� ����������#
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.1

/���	�	���� ����	� ����
���	�� ��� � ����(� ���� ������	���� �	�����'�
��� 
����	� ����	�
� ���
� 
����	(�� ���	�	���� (��������$�	� �	��	���	�

�� �	
���	���� ����	

 ��
�� 
�
�	�� %����
����� ���������&# )� 
�
�	�

?



�������
� �� (������ ��
����	�'
��	� ��	���
���$�	� �
��������� ���	�	�
��$ �������	
��� 
�
�	��� � �����	��$ 89# -�� ���
���� �� ��	���������
��� ����	

 �
�����	�
���� �	��� 
�
�	��� � ��	��	� 
�	��� �
	(�� �����

���	
� � �
��
	��
� 


	
����� � ��� �	���� ��( �
	(�� �������	�
� ���

�������� �
	
��� �
��	 ������	� ��� -��(�� 
������ ������ 
�����'
�
�


	��
��	� ��� =���� ����
��� �� �������� � ���� ����'��� �	�����
�
�������(� ���	�	���# ;	���� � ������� �	���� ��( �	��	�
� 
�
�	��� %��� �
���	� ����	�	&� �� ��
���	� ���!�	
���" 7�����'��
�' �
����	�� ��� �����
�	��� 89� ��
�����	 �	�
������ �������	
��� 
�
�	��� ��(�� ���' �
�����
�	�� 
� 
�	� ��
���	��� %����	����& 		 ��	��	� 
�	��# =#	# 
�
�	�� ���	�
+�������������' �	
���	��� �� 
��	 �	�� �
���������

-���
��	���� �	��� �
�������(� ���	�	���� ��� ������� �	���� ��( ���
�����	� 
�	��� �� ��
���	� ��������������" @��	�
�������
�' �
����	�� ���
�����	��� 89� ��
�����	 ��
���	����� ��	��	� 
�	��� ��(��' ���' �
�����
�	�� 
� 
�	� �	�
���� �������	
��� 
�
�	��# -��(��� 
������� �	
����� ��
��
����$��	 ��
���	��� 
�	��� 
�
�	�� ���	� +�������������' �	
���	��
��# ;�

������ 
�	��$��� ����	�#

/�	��������� ��� �	������� ���(�� +���� 
�����	�
� ��
������ �������

� 
����� �� 
���
��# A� ��
# . ����
��� 
�	�� ����(� 
���������	 
������
���	�	��� ��������� ������(��'��� S ���
����	� �	
�������	��	 
�����#
4���������� ���
���	���	 Oi, ���
����$� �	
�������	��� ��
������ 
���
�
�����#
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S �
�
�
�
�


!!
!!
!!!"

O2

O3

O4

O1

α

β

.2

/�	�����(�	�
�� ���5
� ���(��
' � �$��� �������	��� 
 �����
�'$ 
������	���� ������ �����

������'
� �� 
�	��$�	� 
���������� 
������B
� 
���
 �� ��
����� �������	�
�� 	
�� ���' � 
���
���� �	 ��	��	� ���		

���� 
�������B

C



� (��
���� 
 ������� 
�����	� 
 ������ ����� � 
����� �	�	(� ��
��������
��� ����� ��������	�'��� 
�������B

� ������	��	 ����(� 
���
� ��	
�	����	� 
���� �	�	(� ��
�������$ ��� �	�
���	� 
�������#
-	�
���	� ,��� 
�
�	�� ����	�
� ��
����� �� ������ 
���
�# /����	��	 �	
��	�	���(� 
���
� ��

�������	�
� ��� ��
���	��	 ��	��	� 
�	��# 4�� � �
��	�����	� ����	�	� �����	��	 
���
�� �	 
���
�� �� 
���� 
�
�	��# /�
�'
�
����	 89 �
����	� ��
��
���	 �	������	���� 
���
��# =�(�� ����	�	���� 
��

�	�� (��	�
������� � ��� 
��
�	� ��� 	
�� � +���� 	
�' ��
������� (��
����
��� ��� ��
��
�� ���
����'��(� ��
�� 
���
��� �� ��� ���	� +�������������'
�	
���	���# A�����	�� 	
�� ������
� 
���
 �� ��
����� ������� � O2, �� (���

���� ���	� ���	���' � ,�� ����� �	�	
 
�����$ α. D��	� ��
�	 ��
�����
(��
� �� ����	� ������'
� �� �������	� 
������ β ��� ����� 
�������# A�
�������� ���� �� ����	� 
�������'
� 	�	 ��
 � ��
�	 ��
����	��� � S 
����
��������' ��� � ���' (������ � ������	��$ 
�	��$�	(� 
���
�# 1
 ���
�����
���	 ��	������	��� 
�	��	�� ��� ��� ������	��� ����(� �������� � �����	��
������ �	�	(#

-� ,��(� ���	��� �� �	 ������ ������ ���	�	�	��� �
�������(� ���	�	�
��� # 2	
 ����� �����	��� �
	(�� ����� ��

�������' ������	��	 89 ��� ��	�
�� ���	�	� � �� �����	� �	�	 �	��	���	
��# -�� ,��(� ��
�	 �
���(� �����	�
��� 89 ��������������� 
�����	 ��
������� ���
�� ��

����������' ��	���
���		 ����
����	 
�
�����	# ;�
��		�
�� � ������	���� 
 �(�����	����� �	�

��
��� ����	 ��

������	��	 ��
����� �	 �
		(��# /� ,��� ������	 ��
���
�� ��	
�� �	������$ �	�� ��	�� ��
���	��� � ��

��������' ���'�� ����
+����� �(�����	���	 ��
���	���# =���		� ���	� 
�����' ���������� %�#	#
��
�	�����	�'��
�' 
�
������ 
�
�	�� ��	����
�	��� �� ��	�	�� �	�
�����
�� 
�
�	�� � ��	��	� 
�	��& δ−�(�����	����� 	
�� ��
�	� �����(� ��
�
���	��� �� ,��� ���	������ �	 ��	��
����� δ. /��
�	���� 
��
���� �
�
�	�	��� 
�
������ ����	�
� �	��	���������	
��	����5 
�
������ � (������
�� ��
���	��� ����$�
� ���	����� ����	
����� ,�
�	�
�����'��� �������
� ������� �� ��� 
���	�
� �����	��	� ���$�	��� �� ����	
����# 4���	 ,���
(� 
��
��� �� ����	 ��

�������	� �	
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� >�����������># � ���	 ����
 ����
������ ��	�
�����$�
� ���

q :− Con1, . . . , Conk, Act1, . . . , Actm.

/�
���'�� q � ���	�
�����'��� 
������ �� ��������� �	 �	���
����#
-��(�� ��� �
���� ����
� ������� �� ��

�������	�� 	
�	
��	��� ��
���

��	� �
 ��	������� �����'��
�� �	���
��5 ������ �������	
��� ��(��	
���
���(����� ����
�$� ������� 
�(��
������	 
 ,�	�	�������� ����+��������
�����(���� ����� ��� ��������� 
�(��
�$�
� 
� 
����� 
�����+�����������
��(��	
��� ���(���� �?"# /�,���� �� ���	� ��
����' ����	 ���(����� �����
������� $%�& �������������������#

K�� �	 ��
�	�
� �(�����	��� �	��
���
��� �� �� ��

������ � ���	
��	 89
�	������	 ������

� +�����  �(� �������� ������	 
 ����� 
������ ������
��$� ���(�	 ���

� ������	���� � 
 ���(�� � ����$�
� ���
�� ����	��	����#
A����		 
��'��	 �(�����	�� �� 89� ������	 �� ����������	� � ,�� !��������

%��
��
���	 �	�	�	����& � �����������
 %��
��
���	 ���������& +�����# �
���	� ���

�+������ ,�� �(�����	��	 ��
���	�
� 89!����������" 7�	��$���
��

�������	��� ���� ���

 
�
���� �
 ��
�
��� +������ ,�� �(�����	��	 ��
��
���	� 89 ����������" L�	 ���		 ������� ����	�
� ���

 89� 
�����	���
∃−+��������# )� ���	� (������'� ��� �(�����	��� �
 ,��(� ���

� �����	�
�����$� 89.���������"

� ,��� �����	 �� �
���	� ����
���	�'��$ 
�����
�' 
���
�� �	�
�	�����
��
�� � ∃∃�
�����'��
�� ���	�	��� ��
��	���� �������	
��� 
�
�	�� ���
��
��	��� �������������� ��� M�
�����+������������ �	������ � �(�����	���

N



��� �	��
���
��� �����	�����$���� ������ �
 ���
����� 89�����	��	�# 6��
��� 
���
���� ��	������ �	 ����$�
� ,������	������ � ���

	 �
	� �������	�

��� �	��������� ��
 ������# /	���	 �
 ��� ,������	���� �����	�	 �
��������
� �� ������� �	(�� ����� 
�	
�� �����	�� �
$�� ���	�	�	���
�� ��
����� �	�
���
����� +������# =	� �	 �	�		� �� 
�����
�' �� ���(�� ��

�������	���
���� 
������ ���������# A�����	�� � 
����	 ������������� ���
��� %�#	# �	


������ �	����& --2 ��	 �����	�� ����$�
� SPACE(2poly)��������# -��
--2 
 ��
�
���� ����������� ��	 �����	�� ����$�
� PSPACE��������#
� �	������� ���		 �
��� ���

�� --2 
�����
�� ,��� �����	� ��
�����# A��
����	�� ��� ���

� ��
�
��� ������������� 
�
�	�� �	 �����$��� +����
�
 
�
������� 
 �(�����	����� �	��
���
��� �����	�����$���� 89.�����	��$
�(�����	���� ∃∃�
�����'��
�' ����	�
� NP �������� � �(�����	���� �	�
�	��
�����
�' ����	�
� PSPACE�������# 3����� � 	�	 ���		 �
��� ���

	 ��
�
�
��� � ��
������� %�	
 ���������& ������������� 
�
�	� ��	 �����	�� �����
$�
� NP ��������# /�� 89!�����	��� �	�
�	������
�' ��
��
����	�� � ,���
���

	 --2 
� ���	���	 ��	��� � ∃∃�
�����'��
�' 
�������
� �������'���#
1��	�	
��� ��� ��� M�
�����+�����	��� ��
�
��� ���
��� --2 
�����
�'
��

�������	��� �����	� 
������	� 
 �� 
�����
�'$ ��� 
����	�
���$���
������������� 
�
�	�# O ��	���� ��	 �����	�� PSPACE������ ��� ��
�
�
��� M�
�����+����������� --2 � ����$�
� SPACE(2poly)�������� ��� M�

�����+����������� ���
��� --2#

6�� 
���'� ��(���
����� 
�	��$��� ����
��# � ��
�	�	 . ��
����$�
� ���
���� ���(�� �������� 
��
����	 
 ������# � ��
�	�	 ? 
������ �	��������	
��	������	�'��	 
�	�	���# � ��
�	�	 C ������
� �
�����	 �������� 
��
����	

 �
�������� ���	�	��	�� � ���	�	��	�
� ���

�+������ �������	
��� �	����
������ ��
 ������# ;�
�	� E ���$��	� �	
��'����� ������	��
�$��	 ����
���
�	�'��$ 
�����
�' �����	�� �(�����	���� ∃∃��	�
�	������
�� ��� ��

����
����	��� ���

�� --2# ;�
�	� E 
��
�� 
 
����	�
���$���� �	
��'������ �

�����
�� �(�����	���� ∃∃�
�����'��
��#

� ����� 	��
������

� ��
�	��		 �	
����	��	 � ����
�� �	��������� ��
 ������ 
 ����+��������
���������
' ���	�
����	 �

�	�������# � ,��� �����	 �� ��������	� ��������
����� ������ �	��������� ��
 ������ %��	�
����	����� ������	�� � � 0"& � 
��
���	 ���
���� 
���
�� ���	�	��� ��
��	���� �������	
��� 
�
�	�# 3
�����	
�������	 ��	����
' �
���� ����+������ � �����
� �� ����
���
�� � 
������

�� %
�# � � . � .!� C"&� � ����	 �	����������� � ��	��������� 
	�������� ���
��+������ %
�# �..�  ?� E� .C"&# /�
�	���� �	�� �	
�� 
��
��� 
 �����
�� �	�	�

������ � ����+������ ��� �����
�������'��� ��
 %PQ# � ��  C"&# R	�����'��	

����� � ,��� ����
�� 
��
��� 
 ���	�	�	��	� �	
��'����� ����+������ � ����

�



�	���� �� ����	����
�� ����
��	�'�� 89# )���+������� ������$��	 89� ���
������� ��

���������
' ��� �	����
����	# 7�	��+��� ������	���� ��

����
��������
� ����� 
�
������ �
�	���' ,�� �����������$ ����� 
�	��� �� 89#
)� ��

�������	� 
�������� ��(�� ����+������ 
�
�	� ��(�� �������' �����

����
�' 
�
������ 2-� � ��
���	��� ��	��	� 
�	�� --2� ������	 
�	��$�

� ����+��������� ��

���������$� 89 %��� �������	 
�������&# =���� ���	��
�������� ����� 
�	��� �������� 	
�	
��	��� � ���	�	�	��$ 
���
�� ���	�	���

�
�	� � �	������ ���	������# � �	
���'��� ������� ���	�	��	 �������� ��

������ ��	 ���
�����
' � �	������ ���	������ %���

& % 
�# �E� .C� N"&� �� �
��� ��(� ���	������ 
����	�
������� ���'�� ����+������� 
�
�	�# 7�	��	�
���	���'� ��� � �����	 �.C" ���� ��	�	�� ������	 >
$����
��>� ���
�����	 ���
��
��' ������	 �	������� ��	�	���� ��	���� 
������ �� ���	�	��	 --2# �
�����	 �N" ��

����	�� 
�����
�' 
����� ������������ ��� ���

� ��
�
���
������������� 
�
�	� ���� STU8VS# =	����	
�� ,�� ������ �	
'�� ���
�� �
��� ��
�� ���	� ������� � ������� ��

�������	�
� �����	�� �(�����	����
�	�
�	������
��#

� ����
��

�� � ��
������
	�
�
 ���
�
	

��

)� ��

�������	� ��(��	
��	 ���(����� 
 ����+�������� � �
��	  �(� ���
����� L ��� �	�	�	������������	 ��	����
������ 
�
������ ��
 ������ %2-�

�
������& 7�(������ �
��� L � ���	� 
����	 
��	���� ��� ��	�������	

������ P, ��� � ����	
��� ��	� +������ � # -�� �����	��� 	
�	
��	��
��� 
	������� ����+������ ��� ��� � � �����	 �.!"� ��
����	� P �� ��	
�	�	�	
	��$���
� ��
��5 Pe %�����������	
��� ��	������& � Pi %��������
���	
��� ��	������&# 6������� ��
�
 B �
��� L 
����	�
��	��� ��
����	�
�
�� Be = {p(t1, ..., tk) | ti ∈ H, p ∈ Pe} � Bi = {q(u1, ..., ul) | ui ∈ H, q ∈ Pi},
(�	 H � ,�� 6������� ����	�
�� �
��� L. 7�
������ ��
� ������ %2-& � ,��
���	���	 �������	
��� Be. @����� ����
 � ��(��	
��� ���(������ �
	(�� ���
��$�
� ���	�
�����'���� �������# =	�� ����
 ��(�� ���$���' ,�	�	������	
����+������ ��
 ������ ���� �����5 insert(A), delete(A), (�	 A � ,�� ,�
�	��

�����'��� ����# � �	��� ��	����	��� ����
��$�
� ����	 �����������	
���
����� � �����������# -�� ��	�'�	��� ��
�	�� ���(���� � �� �	��� �� ���
��
��	� �
���'
�����	 ��
:$����� >B>� ��	������ ����+������ '()*+,$-�.&
��	
�� ���������� ��	������� %,/,0,$-&� 1*2,30$.&"

3�	��������� 
	������� ��(��	
��� ���(���� �
������ �� ������������
SIH������	��	���� �� ��		� 
�	��$��$ 
�	��+���# ����	����� �
���'
�	�
�
�����(��
��	 ������� ������ 
���(� �	��� ����	�� 
 �	
���
���� ��
�����
,�	�	������� ����+������ % �#	# �
	 �	�	�	���	 � ��(��	���� ����+������
insert(A) � delete(A) � ���	�� ��
��� ������ ���' ��
�
���� �	�����&#
3�������	 ������	�
� ��� ���	���� �����	�����
�'� ������� � ���	� �	
'��

�




�	����'��� 
����	 �
����	�� ��� ������	��	 ����� �
�	���� 	
�� 	(� �	�'
�
���+��������' �� 
 ����� +����� �	���	(� 
�
������ 2-# W
�	���	 �����
�	��	��	 ��		� �������� ,++	��� 
�
������ � ��	����
������ �
�����(� 
��

������ 2- � �	������	 ����	 
�
�����	# 7 ������ ��(��	
��� ���(������ 

����+�������� ����� 	
�	
��	��� 
��
��' 
�	��$�		 �����	��	 E � E ′ ��
2-�
�
�������#

�����������  � 4���
 I � 	��������� ���������� E , E ′ � ��� ���������
�� � :− G � ��������� ��	
" 5������6���� I ∪ E ∪ { :− G} � ��� ������
��� ���	�������	
����
 S = s1, s2, ..., sn ����� $��������
 �����	����& ����
si = (Ei, Gi, σi), � ������
 Ei � ��������� ��� Gi ��	����� ��	
� � σi �
������������ E1 = E , G1 = G, σ1 � ��6���������� ����������� ε, Gn �
������ ��	
 �, � ��6��
 7�� (si, si+1), i < n, ����� ���� �� �	���� �#
�����" 4���
 Gi = L1, L2, . . . , Lk.
$8& 9�	� L1 � ����� �� �	� ���������� �������� �	���� $�����6��� �

������ ��	��& H :− B1, . . . , Br (r ≥ 0) � �	� ���!�	�� �! ��� ������
������ θ ������ L1 ◦ σi � H �� ��� �!����� ����� ����� ���������
Gi+1 = B1, . . . , Br, L2, . . . , Lk, σi+1 = σi ◦ θ � Ei+1 = Ei "
$:& 9�	� L1 = ¬q(t̄) �	� ���������� q ∈ Pe � q(t̄) ◦ σi ��	
�� ����

���������
 �� � ����� ������ Ei, ����� ����� ����� ��������� Gi+1 =
L2, . . . , Lk, Ei+1 = Ei � σi+1 = σi "
$;& 9�	� L1 = insert(A) � A ◦ σi ∈ Be �� ����� ����� ���������

Gi+1 = L2, . . . , Lk, Ei+1 = Ei ∪ { A ◦ σi} � σi+1 = σi "
$<& 9�	� L1 = delete(A) � A ◦ σi ∈ Be �� ����� ����� ���������

Gi+1 = L2, . . . , Lk, Ei+1 = Ei \ {A ◦ σi} � σi+1 = σi "
9�	� ����� �������6���� �� �������� �� ��� ��� �!����� ��7�� I ∪E ∪

{ :− G} =⇒ �.
9�	�� ����� ����� En = E ′, �� �� ���6��� ��� ��������� I � ��	
� { :− G}
����!������= E � E ′, � !���� �!�������
 ��� ��� E

G

�I E ′. 4����������

E
p

�I E ′ �� !���� �!�������
 7�� �������6����� �� ������� �����������
�	���� p "

1
 ,��(� ���	�	�	��� ������ ��� �� ��

�������	� �����$ �	�' ��(��	�

��� ���(����� ��� ��	����	�	�	���	 �	�	�	������������	 ��	����
�����	

�
������ 2-# � ������	 �� �E" �� �	 ��
����	� �
�� ��(��	
��� ���(����

 �	�� ����� �� ������� ���� �����	���	 
�
������ 2- � ���	 �����	��	���#
=	� �	 �	�		� ���� 
	������� ��
����	� 	
�	
��	���� ����
�� ����(��' �(���
���	��� �� ,�� 
�
������# A�����	�� �
�	���	 ����	�	��	 ����
�

h :− insert(son(jack, tom)),¬ancestor(jack, tom), etc, ...
��
����� ���'�� � ��� 
����	� 	
�� ������	��	 +���� son(jack, tom) � �	���
�	�� 
�
�����$ 2- �	 ����	�	� � 
����������$ �����	��� >FXPYZ[\]>#

� �	��'��� ������	���� �����	 � ��
�� ������ ����� ��
���' �� ���

�

 !



,������	����
��� ��
���'�� �	������	 �������� �����	��� �(��$� ��
�� ���
+����������$ ���'� �#	# �� �
�	�	��	 �	 ����	� �� 
��	
��	���	 
���
��� ��

������# -����	� ��
����$��	
� ���'�� ������ >�	
��	
��	�����>�	������
����� 
�����' ,������	������# =���	 ��
��	��	 ������ �� ���

� ���(��
��
����	� ��	�'���' ���	�����'�� �	
���	���$ �	���
����$ ���������$ ���
��
�' �� ���	���� ��� ���		 ���
�����# A	������	 �������� ����� 
���
�� ��	
��

���������
' � �	����# A�����	�� ��� ��
���	��� 7������	���
�'� �
���'�

�	��� � ���	 ����� � N� .�  � 0" ���	�	��	� �� 
�
������� 2- ,������	����
�'
����
��	�'�� �	�	��	������� ���
���� ��	 7# )� ������ ��� �����	��� ,���

������� 
�	��$�		 ������	#

����������� !� 4���
 ≡ � ��������� ������	�������
 �� H. 9� ��6��
������������ �!����� �������������
 �� Be : g(t1, ..., tn) ≡ g(t′1, ..., t

′
n) ���

��� � ��	
�� ������ ����� ti ≡ t′i �	� ���# 1 ≤ i ≤ n. �	� 	�!�# D1, D2 ⊆ Be

�� ��	����� D1 <≡ D2, ��	� D1/≡ ⊆ D2/≡. D1 <≡> D2 ��	� D1 <≡ D2 �
D2 <≡ D1.
>��������� ��������� I ∪ { :− G} ��	����� ������������� � �	�
������


������ ≡, ��	� �	� 	�!�# ���# ��������
 E1, E ′
1, E2 ⊆ Be, ����# ���

E1 <≡> E2 � E1

G

�I E ′
1 �� ������� ����� ��������� E ′

2, ��� E ′
1 <≡> E ′

2 �

E2

G

�I E ′
2.

?����	� Φ ��	����� ������������� � �	�
������������� ≡ ��	� �	� 	��
!�# ��������
 E1, E2 ⊆ Be �� E1 <≡> E2 �	������ ��� E1 |= Φ ������	�����
E2 |= Φ.

7�(��
������
�' 
 ��+����������� ,������	����
�'$ ����	�
� �����	 ���

����� �(�����	��	�� 
����	�
���$��� 
��� �	�� �� ���(�� ������	����#
7���	�� � ���	� ����	�	 
� 
�����	�'��� +����� ��
� ������ ����������
�	���
�	�
� ��
�	�
���� ��	������ contract(Number, Customer, Sum). /��
,��� 	
�	
��	��� 
�����' ,������	������ �
	 +���� ���� contract(ni, ci, si),
������$��	
� ���'�� ��	���� 
���
����� ci, ��
���'�� ,�� ��	�� ����� �	
����$� �� +����
���	 
�
�����	 � ���	�	��	 +����#

4��
 �
	� ��(��	
��� ���(���� �� ����
���	�'��� 
��	 ,������	��	� ���
�

� ����� ='$���(�# /�,���� ���'���
��� 	
�	
��	���� ��(�������	
��� ����
��	�� 
��
����� 
 ��	����
�������� 
�
������ 2- �	��
�	����# =	� �	 �	�		�
����� �������' �� ��(��	
��	 ���(����� �	������	 �(�����	���� ��
�� ���
�����$��	
� � ������	����� ������	 ��	
�	��� ��
�	����
�' ���� �����	�#
3��� �
 ������		 �	���
���	
��� �(�����	��� ,��(� ���� ����	�
� 
���
���

�����+�����	��
��� �����(����	 � �	������� 
��
�	 �?"#

����������� "� 4���
 P � 	��������� ���������" @��6��� ��� ��������
p ��������� �� �������� q, ��	� � P ���
 �	���� p � ������� q � ��
��	�" 4���
 ����7���� ����
�
� ��� ��	����� ���	�������� � ����������
��� ���������� 	���7���� A���	����� ��A" B������	
�� ���	
�� �������

  



���������� ����� ����7���� A������� ��A������� 	�
	��
� P ����������
�
���
���	
 �����
�
�
�������� ��
�����
�
�
���������� ��	� �	� �����
 ��
�	����

p(t̄) :− p1(t̄1), . . . , pi(t̄i), q(ū), pi+1(t̄i+1), . . . , pr(t̄r),
� ������
 q �#���� � �	��� p, ��� ���������2 p1, . . . , pi, pi+1, . . . , pr ��	��
���� ����
�������
� �"�" �� ������� �� �	���������# ����������
"

7��
� ,��(� ���	�	�	��� 
�
���� � ���� ��� ����+������ 2- ��(�� ����
�����
� ���' �� �	� ��(��� �� ������� �	��	�
� ����� ��
���	��(� ��	�����
��# 7�	��$�		 ���	�	�	��	 
���	� �	������$ ���

�+�����$ ��(��	
��� ����
(���� �� ���� �� ����
#

����������� #� >��������� ��������� P ��	����� ����
�������� ��	� ���
�� ��������� �����������" P ��	����� ���
�
����� ��	� � ��
 ��� �������
��
" 5�� ����������  ��
����� ��	� ��� �� �	���� !���������"�" �� �����6��
���������#" 5�� ��	����� ����	��� ��	� ��� ����� � �� �	����# ��	����� ���
��������� �	� �����������" B� ������� P ���!
���"��� ��	� � �� �	����#
�� ����	
������ ����������� %,/,0,=8" 4�������� P ������� ����#	�
������
��	� ��� ������ �����������
 ����������	
��
 �������� C=D � ��� �� �	����
��	����� ����#	�
��
� �"�" ����� ��� q :− Con1, . . . , Conk, Act1, . . . , Actm,
��� ��6��� Coni ��	����� �����������	
��� 	�����	��� � ��6��� Actj
��	����� �	���������
 �����������
"

=	���� >���������>��
���
������� �
 11# A��� ����
� q :− Con1, . . . ,
Conk, Act1, . . . , Actm 
����	�
��	� ��� �
������� ������� ��	����
������ ����
CONDITION ⇒ ACTION, (�	 CONDITION � ,�� ���:$����� ���	�����
Coni, � ACTION � ,�� ��
�	�����	�'��
�' ����+������ Act1, . . . , Actm.
/������ ����(� ���� �
���'
����
'� � ��
���
��� � �
��	 ����
����� HI � � "�
���� � � ���(������ 
 �	
���'�� ���� 
	��������#

�  ��
�

�
 ��
����
���! �
������
�! "#

-	��������	 ��
� ������ %-2-&� ������	 �� ��

�������	�� 
����	�
���$�
�� ���	�	�	��$ � �����	 � 0"# 3�� ���$��$� ���	�
�����'��$ ��(��	
��$
���(����� 
 ����+��������� 
����		 ���	�	����� ����� �	�	�� �	���
�$���
��	����
������ 
�
������ 2- � 
����
�� �(�����	��� �	��
���
��� 
������	
��(��	
��� +�������� � �	������	 �����	��	 ,������	����
�� �� ������# -��
���
���� ���	�	��� �������	
��� -2- �� ��	��	� 
�	�	� ����$�	� �� 
�
���
���� 2-� �� ������ ����	 ������	 ���������� � ���	�	��	� 
���
��� ���	��
������ ������$��	 �
�������	 ���	�	��	#

����������� $� $
���
���	�� ���#	�
����  ��� �����%��
���
���	�� $&$�
� ����� % � ��� �������

 .



B =< I ∪ { :− G1, . . . , :− Gn }, Φ, ≡i >
���E
� I � 	��������� ��������� � ������������� � %�
� ��� ��	� Gi, i = 1, . . . , n, ��	����� 	�!� !��������� 	�!� ������������

���
� Φ � ��������� �����	� 8��� ������� � �����������	
��
 ���������� ���

��� �� �����
���
� ����������
 �'(��
� ≡i � ������	�������
 �� Be $�� �������� �� �	�
������������ ���


��%�� � 	��������� ��������� I ∪ { :− Gi}, i = 1, . . . , n, � �� Φ ���	�������
� ≡i .
�������� ��	� ������� ���
�
	��
��
� � ������������ � ��������
�

=	�	�' ����	�	� �
�����	 ���	�	�	��	 ,��� ������# L(� ��$�	��� �������
	� ����	�
� ������	 ���	������ 
 ��
���	������ ������	 ������	� �	�������	
���	�	��	 �������	
��� --2 �� �
�����	�
���� 
 		 
�	���#

����������� &� �	� 	�!�# ���# ����������� �#�� ���6���� D+,D− ⊆
Be, ������	�� (D+,D−)
����#"��
� ��� ����7���� E1

D+,D−−→ E2 �� ������
����# �� ������ ��� E1, E2 ⊆ Be � E2 = (E1 ∪ D+) \ D−.
4���
 B =< I ∪ { :− G1, . . . , :− Gn }, Φ, ≡i > � ������������ ���" B�

������	�� ����	���
� B ��� �������� �	� !���������� ���	�������	
����

����

ω : E0

Gi1�I E∗
1

D+
1 ,D−

1−→ E1

Gi2�I E∗
2

D+
2 ,D−

2−→ E2 ... .

B� �������� ����� ���������� $������� ���� � ����������
 & �
����	���


��
� ���
�������� ����������� ������� ���� � ����� ���
� �� ��������
�
����	���
��
� 4��	�������	
����
 ��� d = (D+

1 ,D−
1 ), (D+

2 , D−
2 ), ... �����

������ ����#"��
�� ���������� ω. 4���
 δ =< D+,D− > � ���������
D+,D− ⊆ Be. F���� ω ��	����� δ−�����
������ $������ δ−�����
�������&
��	� �	� ���# k ≥ 1 D+

k <≡i D+ D−
k <≡i D− $��������������� D+

k ⊆
D+ and D−

k ⊆ D−&" B����������� $������������& ��	����� ��� 
����� $���
������������� ���������
�����& ��	� ��6��� �� ��������� Ei, i = 0, 1, 2, ...
����	�������� �� Φ, �"�" Ei |= Φ. ��� ���������� �	�
��������� ��	� �#
�������������� $�"�" ���� �� ���������� ������& ��������� �� ��	�����
������	�������"

7�����'��
�' ���	������ �
����	�� ��� �
	 �����	��� 89� ��
�����	 �����
+�������� --2� ����	�
���$�
� �� �	� 
����	�
���$���� ��
���	�����#
-���
��	���	 ������	 (��	�
�������
�� �
����	�� ��� �
	 �����	��� 89� ���

�����	 ��
���	������ ����	�
���$�
� 
����	�
���$���� ����+��������
--2# D��	���� ��� �
	(�� ����� ���� �� ����	�
������' �����	��� 89 
�

�	� ��
������� ���'��� ��
���	��� ���� � ����
��	���� 
����	� 
� 
�	� ���

������� 
������ ����+������# /�,����� ����� �������' ��	������	 ���	�	�
�	��	 �
�������(� ���	�	���� ��	��	�
� ��
���� �(�������' ����	�
���$��	

 ?



��� ����	�
���	��	 ��
���	���# /���	�	���	 ���	 ���	�	�	��	 
��	����
����	�� ������� �	������
��������(� �
�������(� ���	�	���� �
�������	 ��
����� �(�����	����#

����������� '� 4���
 ���� B � ��� � δ =< D+,D− > � ���������
D+,D− ⊆ Be.

B ��	����� δ − ∃∃���� 
����� � �������

 &$ E , ��	� � ��� ���
 !�����
������ δ������������� ���!�	
��� ����������� ������� ���� � E .

B ��	����� δ − ∀∃����������
���� � �������

 &$ E , ��	� � ������ ���#
�� δ������������# �����������
� ������� �#�� � E ������� ∀∃�����������
� ������� ��� ����� ��	����� !����������� ��������������� ����������
���"
@�������� �� E ������� δ−������	�
���� �	� B, ��	� �� �������

�������� δ������������� ����������� ������� ���� � E � ���������� ����
� ��������� ��������� ��� ����	������� �� �� Φ. B� ������� ���������
E ������	�
����� ��	� ��� ��	����� δ�������������� �	� ������� δ.

)� �	 �������� 
�	
' ���(�� ��������� 
�����'��
�� � (��	�
�������
��#
-��	 ���	�	�	��	 δ −∀∃�(��	�
�������
�� ���$�	�� � ,�� ������ ���'�� ���
���$
������ �
������ ����	��	��� ���� ��������# /�	�
����	���	 � �	�
�	
��'���� ����
��
� � �	�
�	������
�� � ∃∃�
�����'��
��#

(�����  � ;�

������ �(���	���$ --2 B1, ���
���$��$ 
�
�����	

�����'� 
 �����'$ ��	� �����
�������'��� ,�
�	�
�����'��� ��	�������
healthy, ill � medicine %��
�	���� 
���	� ��
�����
�' �	��������(� �	����

���&# 1��	�
�����'��� ��(��	
��� ���(����� 
�
���� �
 ���� ����+������5

upd1 :− ill,medicine, delete(ill), delete(medicine), insert(healthy).
upd2 :− healthy, change(healthy, ill).

T^Y 89 φ1 MYZP]_GYZ ZF[_ZQFP[\]` Z[F[YZ5
healthy ∨ (ill & medicine).
6�� --2 ����	�
� ({medicine}, ∅)−∃∃�
�����'��� � �$��� 
�
������ 2-�

�����	�����$��� 89# -	�
����	�'��� 	
�� 
�
�����	 2- 
��	���� healthy, ��
����� ����	���' ����+�����$ upd2 # 6�� ���	� �������' 89� 	
�� � 
�
����
��� �	� +���� medicine # 3������ 89 ����� ��

�������'� ����	��� �	��
��	
��
���	��	# L
�� �	 � 
�
������ ��	$�
� ill � medicine, �� ����	����
�	���� ����+������ upd1 � ��
����	� 
�
�����	� 
��	����		 healthy # 3��
�	��� ����	� ��� �� ���� �
 
�
������ 2-� � ������� �����	��89 �	 ����	�
�
�	�
�	������� ��� B1. 3������ 	
�� 
��	���' �(�����	��	 �	��
���
�� φ1

�� 
�	��$�		 φ2 :
healthy ∨ ¬ill.

�� 
�
�����	 {ill, medicine} �	 �����	�����	� ������ 89 φ2, ���� ��� �	��

�	������#

(����� !� ;�
����� ��	������� ����	�� ���$��� ��	 ��
�����	 ���	
�
�� %ds1, ds2& � 
����	�
���$��	 �� �	���
��� %mdc1, mdc2& � ��
�' � �	
��'���	

 C



�	�	��� ,��� ���	
�	� ��
����	� �������	� %imm1, imm2&# A���� --2 B2

��		� 
�	��$��$ ���	�
�����'��$ ��(��	
��$ ���(�����
upd1i :− dsi,mdci, delete(dsi), delete(mdci), insert(immi). (i = 1, 2),
upd2 :− ¬imm1,¬imm2,¬ds1,¬ds2, insert(ds1), insert(ds2).
upd3i :− immi, delete(immi). (i = 1, 2)

� �
����	 ����
����
�� 895
(¬ds1 ∨ mdc1) & (¬ds2 ∨ mdc2).
--2 B2 ����	�
� δ−∃∃�
�����'��� ��� δ = ({mdc1, mdc2}, ∅) �� �
	� 
��


�������� �����	�����$��� 89# 6�� ��
������� ��	������ ������ ��� � ������

�
������ 2-� �����	�����$�	� 89� ����	���� ���� �� ���� ����+������ ��
����	 ��(�� ���
����'��	 ��
���	��	 �	�	����� �$��	 
�
�����	 � 
�
�����	�
�����	�����$�		 89# 3������ ��� δ1 = ({mdc1}, ∅) B2 �	 ����	�
� δ1−∃∃�

�����'��� �� � ����� 
�
������# /������ ,��(� � ���� ��� �
���� �	
���	����
���	������ ������ 
��	����' ����	�	��	 ����+������ upd2, ������� ����
����� � 
�
�����$� ���$��$�	�� ��	 ���	
��# =�(�� ��� ��

������	��� 89
�	������� +��� mdc2 � ������(� �	� � δ1#

O�(�������	
��	 �����	��� ������	 �� ��

�������	� � ,��� �����	 ���$�
��$� 
����� ���������
�� 89 �� 
�
������� �#	# 
����� ����	��� �
�����
��
+������  �(� ������� �� ���	���� ���	��# 6�� 
������ ��	������ ��
�	����
� ����������'��� ������# 7 ���(�� 
������� ��	$�
� ���

� ������	��� 

�	
'�� ������� �(�����	����� �	��
���
�� %,�
�	����	 
�
�	��� ����������
��	 � ��#&# /�,���� �� ���	� ��

��������' ���	 ���

� -2-� �'� �(�����	�
��� �	��
���
�� Φ �����	�����$� ������ �
 
�	��$��� �
�����5

%89!& Φ � ��
�
��� +������� �	 
��	������ ��������� %����������&B
%89 & Φ � ��
�
���B
%89.& Φ � ,�
�
�	�����'�� 
�������� +������ � ��	��
��� +���	 #
7�����
�' ����	��� �
�����
�� 89 ��� ,��� �(�����	���� ������ �
�	
��

��5

(����
�����

$8& G����� �������� ����	������� �� �� ��������� �� E �	� ��8�����������

$��D�����������
& Φ ��6�� ��7��
 �� ������ 	���
��� �� | Φ | + | E |H
$:& G����� �������� ����	������� �� �� ��������� �� E �	� ��:�����������


Φ ��	����� NP ���	��
H
$;& G����� �������� ����	������� �� �� ��������� �� E �	� �������	
�

��# ����������
 ��	�������� Φ ��	����� PSPACE���	��
"

/�
�	 ��(�� ��� �� ��
���

�+��������� �(�����	��� �	��
���
��� �� ���
����� �	������	 ������$��	 �
����� �� ���	�
�����'��	 ��
�� -2- � ����
�����
���	� �� ������	 �� ����
���	�'��$ 
�����
�' 
���
�� �� ���	�	���#
K	�	
 PROD ���
����� ����	
��� �
	� -2- 
 �������������� ���	�
���
���'���� ���(������� I. ������ ,��(� ���

� ���	��� �	
���'�� ������
�

 E




��5
� PROF � ������

 �
	� -2- �
 PROD 
 ���
���� ���	�
�����'����

��
���� I;
� PROG � ������

 �
	� -2- �
 PROD 
 ��
�
���� ���	�
�����'����

��
����B
� PROG− � ������

 �
	� -2- �
 PROG 
 ��
����$���� ���	�
���

���'���� ��
����B
� PROG+ � ������

 �
	� -2- �
 PROG− 
 ��
�������� ���	�
�����'�

���� ��
���� %�#	# ���	�
�����'��	 ��
�� ���(���� �
 PROG+ �	 
��	����
��������� � ����	��� delete/1&#

-2- B1 � ����	�	  �������	��� ���

� PROG−, � B2 � ����	�	
. ������ � PROG. �� �
	� ���
����� ���

�� ����� ����� ���(� ������
������	���# A�����	�� ,�	�������	 ������� ����� �	��
�	�
��	��� ��	�
���
���' ��� -2- �
 ���

� PROG 
 �	
'�� ���
���� 89 ��(�����	�����# =��
��
���	��	 ������������	 ,�
�	����	 
�
�	�� ������$� � ���

 PROF, �
�	������	 �
 ��� ���	 � ���

 PROG−.

4���	 ������

�� ������������� -2-� �� ��

������ ��� ���

� -2- 

��
�����+����������� �	���
�	�5

� GDS � ���

 �
	� -2- 
 ��
�����+������������ � ��
�
���� ���	�
��
����'���� ��
����B

� FDS � ���

 �
	� -2- 
 ��
�����+������������ � ���
���� ���	�
���
���'���� ��
����#

1
 ,��� ���	�	�	��� �	��
�	�
��	��� 
�	��	�� ��� PROG ⊂ GDS � PROF ⊂
FDS.

7�	��$��� �	����	
��� �	��� ��
����	� �� ���(�� 
������ ��	
�� ����

����
��� �
	� δ��(�����	���� ���	������ ��

��������' ������
����
���

���(� δ��(�����	���� ���	������#

)����  �

4���
 B � ��� � !������
 $�	����
& ����������	
��
 ����
�� E � �����
����� ��������� �� � δ =< D+,D− >, ��� D+,D− ⊆ Be �������� ���6��
����" F���� �� ������� �������� δ̃ =< D̃+, D̃− >, ����� ��� �	� ��6��

δ−�����������
 ���������� ω ��� B, ������� �
�� � E , �� �������
������ δ̃������������� ������	������ ���������� ω̃ ��� B, ������� ���
�� � E . 4�� ����� ��	� B !�������� �� | δ̃ | = O(| B | + | E | + | δ |), � ��	�
B �	������ �� | δ̃ | ≤ 2pol(|B|+|E|+|δ|).

*
����	���
	�
� /�	�������� I ��
�
���# =�(�� ������� D̃+ = D+ �
D̃− = {a ∈ Be | a I, δ E , a <≡i D−}. ;�

������ �	������$ δ��(�����	���$
���	�����$

ω : E0

Gi1�I E∗
1

D+
1 ,D−

1−→ E1... En−1

Gin�I E∗
n

D+
n ,D−

n−→ En ... ,

 0



(�	 E0 = E . )� ��
����� ω̃ �������	� ��X n # /	���	 
�
�����	 2- � ω̃
Ẽ0 = E . /�	��������� ��� En−1 <≡i> Ẽn−1. =�� ��� I∪{ :− Gin} 
�(��
����� 


≡i, �� 
��	
���	� ����	 
�
�����	 Ẽn, ��� En <≡i> Ẽn � Ẽn−1

Gin�I Ẽn. 7�	�����
�	�'�� �� ���	� ���������' ω̃ 
 �����'$ ,��� ����+������# /�	���������
��� E∗

n <≡i> Ẽ∗
n. /������ ��(�� D̃+

n = {a ∈ D+ | ∃b(b ∈ D+
n & a ≡i b)} �

D̃−
n = {a ∈ Ẽ∗

n | ¬∃c ∈ En ( c ≡i a )}. -��(��� 
������� �� �
�����	� �	 �����
�
 Ẽ∗

n, �'� ���

� ,������	����
�� �����$�
� �
 E∗
n � �	
��'���	 �������

��� D−
n . J
��� ��� En <≡i> Ẽn � D̃+

n ⊆ D̃+. /����	�� ��� ,�� ��
���	��	

���(�	� �#	# D̃−

n ⊆ D̃−. IY[ a ∈ D̃−
n . =�(�� a ∈ Ẽ∗

n. /�
���'�� I ��
�
����
�� ���'�� ����� �
 I, D̃+ ��� E0 ��(�� �������'
� � 
�
������� 
���(�
δ̃��(�����	���� ���	������ ω̃. 7�	�����	�'��� a ������ � I, D̃+ ��� E0.
7 ���(�� 
������ �
 ,������	����
�� 
�
������ 2- Ẽ∗

n � E∗
n 
�	��	�� ���


��	
���	� ���� b ∈ D−
n ∩E∗

n, ,������	����� ����� a. =�(�� 
��	
���	� ����	
c ∈ D−, ��� c ≡i b ≡i a. 7�	�����	�'��� �
 ���	�	�	��� D̃− �� ������	�
a ∈ D−.

� 
����	 ���
��� I ������� D̃+ = D+ ��� � ���	 � D̃− = {p(c1, ..., cm) ∈
Be | c1, ..., cm occur in I, δ E , p(c1, ..., cm) <≡i D−}. -���
��	�'
��� ����	���
��
�� ,��(� ������ �����(���� ����
��	�'
��� ��� ��
�
��(� 
�����#

3�	 �	����	 ��	��� ��� δ̃ 
�	��$� �	��
�	�
��	��� �
 ���	�	�	���# �

a	���  ���	� ���		 �
���'
����� �� �
	� ����
��	�'
���� �	����� ��	�
���# � ��� �� ���	�	��$�
� �	������	 �	�	�	������������	 ��(������� �(��
����$��	 δ��(�����	���	 ���	������ 
 ���	�	�	����� 
���
����� %������
�	�� �	�
�	������
��� 
�����'��
��� (��	�
�������
�� � ��#&# /���	�	��	 ,���
�	��� (��������	�� ��� ��	
�� ����
���'��� ���	������ ��
������� �������'
δ̃��(�����	���	 ���	������ 
 �	�� �	 
���
�����# /�� ,��� ������� ������
B, δ, E ���
��������� 
��	��	�
� ����� ������ B, δ̃, E . 3������ ��� �����

���	� ����
��	�'
��� �	���  � δ̃ 
�����
� 
� ����������'��	 ��	�� � ���

�
��� 
����	 � 
� ,�
���	�����'��	 ��	�� � ���
��� 
����	# =���� �����

��� ���(����� ,��� �	��	� �	 �(��������� �����
��� �� ���	� ���
����'
�	�	�	������������	 ��(������� �(�����$��	 � ����	��$��	 ���' 
���(�
δ−�(�����	���	 ���	������#

$ %	�&
���� �
���
����
����

3(�����	���� �	�
�	������
�' (��������	� ��
������
�' �	������(� 
�
����
���� �����	�����$�	(� 89� �
 �����(� 
�
������ ��
�	�
���� �	������� ���
�	���� δ−�(�����	���� ���	������# /�
�' P � �	������� ���

 -2-# /���
��	�� �	�
�	������
�� ��� ,��(� ���

� � ,�� �����	�� �����	��� ���	� ����
(B, δ, E) �� ����	
���

PROMISE(P) = {(B, δ, E) | E − δ − B ∈ P}.

 N



7�	��$��� �	��	�� ����
���	�� ��� 
�����
�' �����	�� �	�
�	������
�� ���
���

�� ������������� -2- �	��
�	�
��	��� 
���
�� �� ������� ��
������
�
�������� �	���������
�� � �� ���	�
�����'��� ��
���#

+�
����  �

$8& 4��!	��� PROMISE(PROG+) � ��D�������������� ��7����� �� 	��
��
��� ������ � � ��8�������������� ��	����� NP ���	��
"
$:& 4��!	��� PROMISE(PROG−) � ��:�������������� ������	�6��

NP, ��	� D− = ∅, � ��	����� NP−������
 � ���� �	���� � ��D��������������"
$;& 4��!	��� PROMISE(PROG−) ������	�6�� PSPACE � ��	�����

PSPACE−������
 � ���� �	���� � ��D��������������"
$<& 4��!	��� PROMISE(PROF ) ������	�6�� SPACE(2poly) � ��	��

���� SPACE(2poly)�������
 � ���� �	���� � ��D��������������"
$I& 4��!	��� PROMISE(PROD) �������7���"

*
����	���
	�
� % & /�
���'�� �� � �
������ ���������� �� � 89� �����	�
�����$��� 89!�����	��$� �	� ���������� �� (B, < D+, D− >, E) ∈ PROMISE
(PROG+) ��(�� � ���'�� ��(��� ��(�� (B, < ∅, ∅ >, E∪D+) ∈ PROMISE(PROG+) #
4���	 ��(�� ����� ��
���' ����
����	 
�
�����	 ��
������� ����	���' ����
��$ ��������$� ��� ���'�� 		 �
����	 
���	� ���������� � �
���'
����' 		
���' �������# A����	�� ��
���'�� B � ��
�
���� �� �
���� ���� �
��	���
$���
� � 
�
������� ���	������ ���
�� ���
��
������' �� ������� ������#
7�	�����	�'��� ������� ��(����� �����(� ���
�� ��	
�	����	� � ,��� 
����	
�����������$ �	���$$ ��	��� ��	�	��# � �  " ���
�� �	��� �	���
���� ,��(�
��(������ 
� ���	���	 ��	��#
J��#��� ������" /�	�������� �	�	�'� ��� 89 ����	�
� ��
�
���� �� �	 �����

������# /� �	��	  �� ���	� �(�������'
� ���
��� 
���(� δ−�(�����	����
���	������# D��	��� ���		� ��� 	
�� ����� �
�	���� ���	������ 
��	
���	��
�� 
��	
���	� ����� �	 ���	������ ����� �	 ���'�	� �	� 2× ( ). -	�� � ����
��� �
	(�� ��
������� ��

��������' ���	������

ω : E0

Gi1�I E∗
1

D+
1 ,D−

1−→ E1, ...,
Gin�I E∗

2

D+
n ,D−

n−→ En,

� ������� D−
j = ∅ ��� �
	� j < n. O 
�	�� ����� ���	������ ��
������

�� �(�������'
� ���	��������� � ������� �� ���� ��������� �	 ����	��	�
�
������# 6�� 
��
� �	 ��	� �	�	�	������������� ����������'��� ��(�����#
K�6��� ������" /�
�' 89 � ,�� ����
���'��� �����
�������'��� +������

ϕ 
 �����
�������'���� �	�	�	����� p1, ..., pn. /�
�' ���	�
�����'��� ��
�'
I -2- B 
�
���� �
 ��
�
��� ��������� q :− insert(pi) ��� �
	� 1 ≤ i ≤ n #
=�(�� �	(�� ���	�'� ��� (B, < ∅, ∅ >, ∅) ∈ PROMISE(PROG+) ��(�� � ���'��
��(��� ��(�� ϕ ∈ SAT. =���� ����
�� SAT ≤pol PROMISE(PROG+).

%.& J��#���� ������" /�� �
������ ��� D− = ∅ ��� � � ��	�����	� ���	��
��	��� ��� 
����� 89 ��(�����	���� ����� ����
��'� ��� ��
������� ��

����
�����' ��� ���
�	 ���	������� � ������� ������ ��������� ����	��	�
� �	

 �



���		 ����(� ��
�#
K�6��� ������ 
�	��	� �
 ��	��� ���	���	��� % &#
%?& J��#��� ������" A	�	�	������������� ��(������ ������$��� � �����

������'��� ������� ������	�
� �	��
�	�
��	���# =�(�� ��	��	��� �	
��'���

�	��	� �
 �
�	
���� �	��	�� 7,���� � ���� ��� NPSPACE = PSPACE
�.?"#
K�6��� ������" )� �����	�� ��� ����
���'��� �
��� ��
��
����	���

�	������� ������� ='$���(� M � ������� �(�����	���� ��������� p 
���
���
� 
� ����������'��	 ��	�� � PROMISE(PROG−). /�
�' qj (0 ≤ j ≤ k)
� 
�
������ M (q1 � �����'��	 
�
�����	� q0 � 
���$���	�'��	 ����
��$�		

�
�����	&# /�
�' aj (0 ≤ j ≤ l) � 
������ ��+����� �	��� M (a0 � ��
���

�����&# /�
�' x = ai1 , ..., ain � ������	 
���� � N = p(n) � (������ ������#
6�
�	�
�����'��� 
�(������ B 
�
���� �
 
�	��$��� !������ ��	�������5

� qj, q
′
j (0 ≤ j ≤ k);

� asj, a
′
sj(1 ≤ s ≤ N, 0 ≤ j ≤ l) : � ��	��	 s 
���
�� 
����� aj ;

� hs, h
′
s (1 ≤ s ≤ N) : (������ M �������
� � ��	��	 s.

A����'��	 
�
�����	 2- E0 = {q1, h1, a1i1 , ..., anin, a(n+1)0, ..., aN0} ������	�
�����'��$ ���+�(�����$ M.

-�� ������ ������� qjam → quavS, (�	 S ∈ {−1, 0, 1}, � ���	�
�����'���
��(��	
��� ���(����� I 
��	���� N ��������� ����5

(i)
g :− qj , hs, asm,

∧

α�=j

¬qα,
∧

β �=s

¬hβ,
∧

γ �=m

¬asγ,
∧

λ

¬q′λ,
∧

µ

¬h′
µ,

∧

s′

∧

ν

¬a′
s′ν ,

insert(q′u), insert(h′
s+S), insert(a′

sv). (1 ≤ s ≤ N).

4���	 ��(�� I 
��	���� 
�	��$��	 (k + 1)(l + 1)N2 ���������5

(ii)

g :− q′j , h
′
t, a

′
sm,

∧

α�=j

¬q′α,
∧

β �=t

¬h′
β,

∧

γ

¬asγ,
∧

λ

¬qλ,
∧

µ

¬hµ,
∧

τ �=m

¬a′
sτ ,

∧

s′ �=s

∧

ν

¬a′
s′ν ,insert(qj), insert(ht), insert(asm). (1 ≤ s, t ≤ N).

� ���	
��	 �(�����	��� ��� ��
���	��� ��
'�	�

δ = < ∅, { qj , q
′
j | 0 ≤ j ≤ k} ∪ { hs, h

′
s | 1 ≤ s ≤ N}

∪{ asj, a
′
sj | 1 ≤ s ≤ N, 0 ≤ j ≤ l} >

%�#	# ��
���	��� ���	(� �	 ��(�� ��������' � 
�
�������� �� ��(�� ������'
����
���'��	 �������	
��� +�����&#

A����	�� ��
�' 89 Φ = q0 � B =< I ∪ { :− g}, Φ, = > .
=�(�� �	��	�� 
�	��	� �


(����
������ M ��������� x � ������ N ⇔ (B, δ, E0) ∈
PROMISE(PROG−).

 �



/�
�' K � ���+�(������ M, � E � 
�
�����	 2-# 7���	�� ��� E ��������
������ K, 	
��

� E 
��	���� ���� +��� qj � qj � ,�� 
�
�����	 M � ���+�(������ K;
� E 
��	���� ���� +��� hs � s � ,�� ���	� ��	���� � ������� �������
�

(������ ������ � ���+�(������ K B
� ��� �����(� +���� atm ∈ E ��	��� t � ���+�(������ K 
��	����


����� am;
� � E �	� +����� 
� ��������#
/�
�' 
�
�����	 2- E 
����	�
���	� ���+�(������ K, � ������� (������

��
�����	�� � ��	��	 s. /�	��������� ��� ������� qjam → quavS �	�	�����
K � K ′. 6��� ��( ����
�	��� ���	����	�
� ���	�����	� �
 C�� ��(��

E
(i)

�I E∗
1

∅,D−
1−→ E1

(ii)

�I E∗
2

∅,D−
2−→ E2,

(�	 %_& � %__& � ,�� ���	�	�	���	 ���	 ���������� 
����	�
���$��	 ����	��	�
��� ������	� D−

1 = {qj, hs, asm, } D−
2 = {q′u, h′

s+S, a′
sv.} =�(�� �	(�� ����	���'�

��� E2 
����	�
���	� K ′. 3�
$�� 
�	��	� �	���� �������� ��	����	���#
3������� 	
�� �	������� ���	������ ���
����(� ���� �
 C�� ��(�� 
 �	�����
���� D−

1 ,D−
2 ������	�
� � 
�
������ E , 
����	�
���$�	� ���+�(������

K, �� �������� ����
����� ���	�	��	��� ��������	� ���� %_&� ����	���� �
K � �	�	����� 		 � ���+�(�����$� ������� 
����	�
��	� E2. =�(�� ���	��
��	��	 ��	����	��� 
�	��	� �
 ��(�� ��� �	
 �(�����	��� �����
�� �����
��

��������' ���'�� ���	������� ��
����	��	 �� ��
�	�����	�'��	 C�� ��(��
��	 ������	������ ���
����(� ����#

%C& ,������ -����.�� /�
�' B � ,�� -2- �
 PROF, E � 
�
�����	 2-
� δ =< D+,D− > . 3��
����� �	�	
 pe ��
�� ,�
�	�
�����'��� ��	�����
���� �
��	��$���
� � B, δ, E , �	�	
 c ��
�� ��
������ ���
���� � ,��� ����
�	
����� � �	�	
 ae ���
����'��$ >����
�'>,�
�	�
�����'��� ��	�������#
=�(�� �	������ 
��	���'� ��� �	 ���'�	 �	� N = pec

ae ��
������ ,�
�	�
���
���'��� ������ ��(�� �
��	���'
� � 
�
������� δ−�(�����	���� ���	�������
������$���
� � E . /�,���� N ����	�
� �	���	� (�����	� ��
�	�� 
�
����
��� �� ����� ���	�������# 1
����� �	�	�	������������� ��(����� ������	�
�������' �� ����	 (B, δ, E) � �(�����	� ����(��� 
���(� δ−�(�����	���$
���	�����$ B ����� �	 ��	��
�����	� 2N+1, ������$��$
� � E � 
��
�������$��$
� � �	������� 
�
������ 2-� �����	�����$�	� 89# /� �	��	  
,��� ��(����� ������'�� �
���������	� δ−�	�
�	������
�' E . 3�	������ ���

��	
���	� ����� ������� pol, ��� ���
����� ��(����� ������	� � �������
�	 ��	��
�����	� 2pol(|(B,δ,E)|).

/����� 
.����� D�+��
���	� ����
���'��$ ������ ='$���(� M, ���
����$��$ � ������� �(�����	���� 2p(n) ��� �	������(� �������� p(n), (�	
n � ����� ������(� 
���� x � � ��
�' N = p(n)+1 # /�
�' M ��		� ��+����
�	��� A � ��+���� 
�
������ Q � ���(����� P ��� � ����
��	�'
��	 ����	�

.!



��	��� � ���	���	��� %?&# /�
�' x = ai1ai2 ...ain . 6�
�	�
�����'��� 
�(������
Pe ���	� ���$���' ��� ��	������ a/N + 1 FXM h/N + 1 # 7��	����	�'���
a(s1, . . . , sN , i) �
����	�� ��� ��	��� 
 �������� ���	��� s1 . . . sN (si ∈ {0, 1} )

��	���� 
����� ai. h(s1, . . . , sN , k) �
����	�� ��� (������ M �������
� �
��	��	 
 �������� ���	��� s1 . . . sN � �	����� 
�
�����	� M ����	�
� qk #
-�� ������ ������� qjam → quavS �
 P ���	�
�����'��� ��(��	
��� ����
(����� I 
��	���� ���������� ���	����$��	 		 ����	�	��	 � �$��� ��	��	
�� 0�� �� 2N − 1���# � 
����	 S = 1 ,�� ��������� ��	$� ���5

g :− h(S1, ..., SN−1, 0, j), a(S1, ..., SN−1, 0, m), a(S1, ..., SN−1, 1, X),
change(h(S1, ..., SN−1, 0, j), h(S1, ..., SN−1, 1, u)),
change(a(S1, ..., SN−1, 0, m), a(S1, ..., SN−1, 0, v))
# # # #

g :− h(S1, ..., Sj, 0, 1, ..., 1, j), a(S1, ..., Sj, 0, 1, ..., 1, m), a(S1, ..., Sj, 1, 0, ..., 0, X),
change(h(S1, ..., Sr, 0, 1, ..., 1, j), h(S1, ..., Sr, 1, 0, ..., 0, u)),
change(a(S1, ..., Sr, 0, 1, ..., 1, m), a(S1, ..., Sr, 0, 1, ..., 1, v))
# # # #

g :− h(0, 1, ..., 1, j), a(0, 1, ..., 1, m), a(1, 0, ..., 0, X),
change(h(0, 1, ..., 1, j), h(1, 0, ..., 0, u)),
change(a(0, 1, ..., 1, m), a(0, 1, ..., 1, v))

� ����	 ,��� 	�	 ��������� ����5

g :− h(S1, ..., SN−1, 0, j), a(S1, ..., SN−1, 0, m), ¬a(S1, ..., SN−1, 1, X),
change(h(S1, ..., SN−1, 0, j), h(S1, ..., SN−1, 1, u)),
change(a(S1, ..., SN−1, 0, m), a(S1, ..., SN−1, 0, v))
insert(a(S1, ..., SN−1, 1, 0))
# # # #

g :− h(S1, ..., Sr, 0, 1, ..., 1, j), a(S1, ..., Sr, 0, 1, ..., 1, m), ¬a(S1, ..., Sr, 1, 0, ..., 0, X),
change(h(S1, ..., Sr, 0, 1, ..., 1, j), h(S1, ..., Sr, 1, 0, ..., 0, u)),
change(a(S1, ..., Sr, 0, 1, ..., 1, m), a(S1, ..., Sr, 0, 1, ..., 1, v))
insert(a(S1, ..., Sr, 1, 0, ..., 0, 0))
# # # #

g :− h(0, 1, ..., 1, j), a(0, 1, ..., 1, m), ¬a(1, 0, ..., 0, X),
change(h(0, 1, ..., 1, j), h(1, 0, ..., 0, u)),
change(a(0, 1, ..., 1, m), a(0, 1, ..., 1, v))
insert(a(1, 0, ..., 0, 0))

��� ���	��������� �����(� 
���(� (������ � ����$ ��	��� 
 ��
��� 
�������
a0. O����(����	 ��������� ���$��$�
� � ��� ������ 
 ����� ���(��� 
����
(���# /������ [ B = < I ∪ { :− g }, h(S1, . . . , SN , 1), = >, δ =< ∅, ∅ >, �
Ex = { h(0, . . . , 0, 1, 0), a(0, . . . , 0, 1, i1), . . . , a(j1, . . . , jN , in) }, (�	 j1, . . . , jN

� ,�� �������	 ��	�
����	��	 n # a	(�� ���
�����'� ��� | B | + | Ex | = O(|

. 



M | N2). 4���	 ��(�� �	������ ����	���'� ��� M ��
��(�	� 
���$���	�'��$
���+�(�����$ Kfin �
 �����'��� ���+�(������ 
 x �� �	��	 ��(�� � ���'��
��(��� ��(�� 
��	
���	� ����
����	 
�
�����	 EKfin

, 
��	����		 +��� ����
h(S1, . . . , SN , 1), ������	 ����� ��
���' �
 Ex 
 �����'$ ����	�	��� ����
������ �
 I. 6�� ���	���	��	 ����� �
�������' �������	� �� ��
�� ��(��
����
�	��� M �� ����	 x.

%E& A	��
�	����
�' PROMISE(PROD) ����
���	�
� �	��
�	�
��	����

�	�	��	� � ,��� �����	�	 �����	�� �
������� ��� ����� )��
��(� 
 �����

�	�������# �

0���
	��� 4��!	��� PROMISE(PROG) ������	�6�� PSPACE � � ���
	����� PSPACE−������
 � ���� �	���� � ��D��������������"

3��	���� ��� �����	 (������ 
�����
�� � ���	���	���� % &�%.& � %C& �	��
�	�� . ��	$� �	
�� ��� ��������	� 
 δ =< ∅, ∅ > . 2��		 ��(�� �����
����
��'� ��� ,�� 
����	����� � ��� ����	�	���(� ���	 
�	�
����# 7�����
δ =< ∅, ∅ > ���	�	
	� 
�� �� 
	�	� ��
���'�� ��� ������������� -2- ��
�

�������	��� �����	�� ,������	���� �
�	
���� � 11 
����	 ������������ ���

�
�	� ���� STU8VS %
�# � E�  �� N"&# � �N" ��		�
� �	���'��� 
�����
���� ����
��
 ,��� 
�����#

4��

� GDS � FDS 
��	
��	��� ���	� �	� ���

� PROG FXM PROF,

����	�
��	���# 7�	��$��� �	��	�� ����
���	�� ���� �	� �	 �	�		� ��� ���
�����	�� �	�
�	������
�� ��		� �� �	 
�����
�'#

+�
���� !�

$8& 4��!	��� PROMISE(GDS) ��	����� PSPACE���	��
"
$:& 4��!	��� PROMISE(FDS) ��	����� SPACE(2poly)���	��
"

��������	
����" �	����	 ��	��� ��	��$� �	������� ��������	�'��� ���
����� � �	��# ����
�	��� ��(��	
��� ���(���� 	
�	
��	���� ����
�� ��	��

�����$�
� �� �	�	�'��� ����
�	���# )� ����+�����	� ���	 ���	�	�	��	
�	�	�� ����
�	���� �
���'
������	 � �����	 � ." ��� 
������ ����
�	��� ����
��( ���(����#

����������� 1� 4���
 I � 	��������� ���������� R = A1, ..., An, � c � ���

���	���� ���
 ��������� E1

R

�I E2. F���� ������ ����� �����	���� t = t(c)
������	����� �	���� �� �!�����" J��7����� t ��	����� ���� ���� (G, U),
��� G � ���� �� �����	�
� �����7����# � c, � U � ��� ������������ ���
!������� �� ���� 7��� ����	����" L����� t ��	����� ���� v0 = (R, ε),
� �� �����
��� (A1, U1), ..., (An, Un). 4�����	�6��� ���7��� v = (G1, U)
������ t ������������� �����	� G1, �����7����
 � c � ��������� ���
���	���� ( E , (G1, ..., Gk), σ). 9�	� G1 ��	����� �	���������
 �����������

�	� ������ � ����������� �� v � ��� 	��� � U = ε " 9�	� G1 � ���

..



�����������	
��
 �	� ����������	
��
 ����� �����7����
 � ���� 
� ����
�����
 �	���� $�����& B �� I ∪ E , �� v � ��� 	��� � U ��	�����
���!�	�� �! �� ������������ G1 ◦ σ � B. M �������� ��	� G1 � ������
�����	
��
 ����� �����7����
 � ���� 
� �	���� H :− B1, . . . , Br(r ≥ 1), �
θ � ��� ���!�	�� �! �
 ���������� G1 ◦ σ � H, �� U = θ � � ���7���
v � t ������� r ������
E (B1, U1), ..., (Br, Ur).
@ ��6��
 ���7���
 v ������ t �� ��������� �� �#����� � ��#����� ���

������� �� E in(v) � Eout(v) � �# �	�!�	
��� ��������� σin(v), σout(v)
�	���� �� �!�����" �	� ����� v0 ��	����� E in(v0) = E1, Eout(v0) = E2

� σin(v) = ε. �	� 	���
�� v � ��������	
���� �����	��� � E in(v) =
Eout(v) � σin(v) = σout(v). �	� 	���
�� v � �	����������� �������
������� σin(v) = σout(v) � Eout(v) ��	������� �� E in(v) �����������
������������ �
 �	���������
 ����������� $������� �	� ���	���� �����
������ �����&" �	� ����	
��# 	���
�� v = (G, U), E in(v) = Eout(v) �
σout(v) = σin(v) ◦ U. �	� ���������
 ���7��� v = (G, U) � r �����
���
v1 = (B1, U1), ..., vr = (Br, Ur) ��	����� E in(v1) = E in(v), Eout(v) = Eout(vr),
Eout(vi) = E in(vi+1) �	� ���# 1 ≤ i < r, σin(v1) = σin(v)◦U, σout(v) = σout(vr)
� σout(vi) = σin(vi+1) �	� ���# 1 ≤ i < r. �	� ���7��� v = (G, U), �� �����
��� 	�����	� instin(v) = G ◦ σin(v) � instout(v) = G ◦ σout(v) )*
���
����� �
+,-
���
����� +. ��	� G � v.

A	������ ����	���'� ��� ����	�	���	 ���	�	�	��� ������� � �������� 
��

������ 2- � (�����'��� �����
��� ����	����# 1
 ,�(� ���	�	�	���� � ��
��
��
��� 
�	��	�� ��� σout(v0), �(�����	���� �	�	�	����� �	�� R ����	�
�
�	
��'����$�	� ���
�������� � ���	���� ����
��	��� c.

-�� ���$
������ ,��� ������� ��

������ ��(��	
��$ ���(����� I 

����
���

s :− e1(X), a(X)
a(X) :− ¬e2(X), insert(e2(X))
a(X) :− e2(X), delete(e2(X))

� 
 �	�'$ :− s. /�
�' E0 = {e1(c1), e2(c2)} � E1 = {e1(c1), e2(c2),

e2(c1)} � 
�
������ 2-# -	�	�� ����
�	��� E0

s

�I E1 ����
��� �� ��
# C#

����������� 2� 4���
 t � ������ �����	����� � v1 = (A1, U1) )*%
v2 = (A2, U2) � ���7��� t, ����� ��� v1 ��	����� ������� v2. B� �������
����� ���� ���7�� ��	��"������ ��	� E in(v1) = E in(v2), Eout(v1) = Eout(v2) �
�� ������� ������ ����������� �������������� ����������# θ, ����� ���
A1 = A2 ◦ θ � �	� ��6��
 ���������
 X 1* A1 σin(v1)(X) = σin(v2)(X ◦ θ)
� σout(v1)(X) = σout(v2)(X ◦ θ). ������ t ���������� ��	��"������ ��	� �
��� ��� �� ����
 ���� ����� ����# ���7��"
��� ������ �����	���
 t1, t2 � ������� v01 � v02, �������������

��� �	�
��������� ��	� instin(v01) = instin(v02), instout(v01) = instout(v02),
E in(v01) = E in(v02) � Eout(v01) = Eout(v02).

.?



v0 = (s, ε)

#�

#
v1 = (e1(X

1), {X1 = c1})

	

#
v2 = (a(X1), {X1 = X2})

#�

#v3 = (¬e2(X
2), ε)

	

#v4 = (insert(e2(X
2)), ε)

.4
A�����	�� � �	�	�	 ����
�	��� �� ��
# C instin(v1) = e1(X

1), instout(v1)
= e1(c

1), E in(v4) = E0, Eout(v4) = E1, instin(v3) = ¬e2(c1) � σout(v4) = {X1 =
c1, X

2 = X1}.
)���� !� $>���� � ����� ����&" �	� ������� ������ �����	���� t1 �� ��
������ ������	������ ����� ����� ������ �����	���� t2.

*
����	���
	�
 ��������
� �������	� �� ��
�� 
������	��� ��� � t1.
/�
�' v1, v2 
�
�����$� 
������	��$ ���� � t1. /�
�' L(v1) = A1 =
A1[Ū1], L(v2) = A2 = A2[Ū2], E in(v1) = E in(v2), Eout(v1) = Eout(v2),
� θ � �
����� ����
�����	 �	�	��	������	 �	�	�	���� ����	� ��� A1 =
A2 ◦ θ, (σin(v2)�Ū2) ◦ θ = (σin(v1)�Ū1) � (σout(v2)�Ū2) ◦ θ = (σout(v1)�Ū1).
1
 ���	�	�	��� 
������	��� ���� 
�	��	�� ��� instin(v2) ◦ θ = instin(v1) �
instout(v2)◦θ = instout(v1). -�� ������ �	����� v �	�	�� t ���
����� �	�	

t(v) ����	�	�� t 
 ����	� v. =�(�� �	�	�� t′2, ������$�		
� �
 t1 
��	���
	(� ����	�	�� t1(v1) �� �	�	�� t1(v2) ◦ θ, ����	 ����	�
� �	�	��� ����
�	���#
-	�
����	�'��� �
���	 �
�	�	��	 ����	�	�� t1(v1) ���	� �������' �� �	�����
��	 t1(v1) ���'�� �	�	
 σout(v1) ��� �	�	
 Eout(v1), � �
�	�	��� � �	������
��	 ����	�	�� t1(v2) ��(�� �������' �� �	����� ����	�	�� t1(v2) ���'��
�	�	
 σin(v2) ��� �	�	
 E in(v2). A� �
	 ��� 
������$� �� ����	
��	 �� �����
�	�	�	����# 2��		 ��(�� �	�	�'� ����
�	��� t1 � t′2 ,������	����� ������
��� �� ��� �	 ������	 
��	�� �	 ����	� �� �� instin(v0) � instout(v0), ��
�� E in(v0) � Eout(v0) ��� ����� v0 �	�	�� t1. � �	
��'���	� t′2 
��	����
�� ���� 
������	��$ ���� �	�'�	 �	� �	�	�� t1. /������� ,�� ����	����

���'�� ��
� 
���'�� ��		�
� 
������	��� ��� � t1, �� ������� ��	��	��	
�	�	�� ����
�	��� t2. �

)���� "� 4���
 t � ������ �����	���� E1

G

�I E2, bI � �������	
���
�	��� ��	� �	���� � ��������� I, l(t) = max{ | instin(v) |, | instout(v) | |
v ∈ t}, � db(t) = max{ | E in(v) |, | Eout(v) | | v ∈ t}. F���� �����	�����
���������� t, ��6�� �������	������
 �� ��7��� F
������� ��!���� �
 �
������ O(max{db(t), depth(t) × bI × l(t)}).
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*
����	���
	�
�)����� M 
�����
� �� ���(����	 I ������� ����
��#
� ������ ���	�� 
�
�����	 �	���	� �	�� 
���
��� �� 
�	�	 M %
 �	���	�
����	�'$ �� �	����	 
�	��&# 3�	�	���� ��( ���� �����	� ,�� ����	�' 
� 
�	�
��� ���� 
��	��	� 		 �� ��
�	�����	�'��
�' ����	�	� �
 �	�� �
���'
�	��� ��
,��� ��(	 ����
�# =���� ����
��� � ������ ���	�� ����� 
�	�� �	 ��	�����
	� ����� �	���	� �	��# 1
���'
�	��	 ������� ����
�	��� (��������	�� ���
����� �	�	� ����(�� �	 ��	�
���	� ����� ���� � �	�	�	 t �
 ����� � ��
��
�����	���� �� bI . 7�	�����	�'��� ��
�	� 
�	�� �	 ��	��
����� ,�� 
���	��	�
�����	���	 �� lI(t). O ��
�	� �	���� �� ������� 
���
��� 
�
�����	 2- ���
��(�� �	 ��	����	� dbI(t), ��� ��� �
	 ���	���� �� ,��� �	��	 �������$�
�
� ������� 
������ �	����� 
�
�����	� 2-# �

��
������
' � ����
��	�'
��� �	����� ��	���� ���	���� ��� �� ������ �	��
�� 
�����	���(� �	�	�� ����
�	��� �
	 �	����� ������� �	 ,������	����#
7�	�����	�'��� �� �	��	 � 
�����	���� (������ �	�	�� ����
�	��� ��� 345

����� �(�������' �	������� |I |2. -�� �45 ,�� (������ ����� �(�������'
�	������� |I |pca, (�	 p � ��
�� ���	�
�����'��� ��	������� � I, c � ��
�
�� 		 ���
���� � a � ���
����'��� ����
�' 		 ���	�
�����'��� ��	�������#
7�	�����	�'��� �� �	��	 ? ������$�
� ��	��	��	 �	����	 ��	��� 
�����
��
��� ���	�'��� ��(�������+������# /����' �	� ��	��	��� ��� ���	���������
��(�����
���	���� �	 ��	��
����� ��
�	��� 
�
������ 2-# =���� ����
���
�	�	�	������������� ��(������ �(�����$��� 
���(� δ−�(�����	���$ ����
	�����$� 
��������$��$
� � ����
����� 
�
������� �����	�����	� �
������
�	��	��#

A����	 ��	��� 
�	��$� �
 ���	���	��� %?& � %C& �	��	��  # �

' %	�&
���� �����	�
����

� ,��� ��
�	�	 �� �
���� 
�����
�' �����	�� δ−∃∃−
�����'��
��# -�� ����
��(� ��

�������	��(� ���

� -2- P ���	� �
������	�� 
�����
�' 
�	��$�
�	� �����	��5

STABLE(P) = {(B, δ, E) | B ∈ P δ−∃∃− E}

7�	��$��� �	��	�� 
��	���� ��	��� 
�����
�� ��� ������������� 
��

�	�#

+�
���� "�

$8& 4��!	��� STABLE(PROG+) �	� ��8�����������
 ��	����� NP �
��	��
"
$:& 4��!	��� STABLE(PROG−) �	� ��:�����������
 ������	�6�� NP,

� �	� ��D�����������
 ��	����� NP �������
"
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$;& 4��!	��� STABLE(PROG) ��	����� PSPACE���	��
"
$<& 4��!	��� STABLE(PROF ) ��	����� SPACE(2poly)���	��
"
$I& 4��!	��� STABLE(PROD) �������7���"

��������	
����" % & K�6��� ������" /�
�' ϕ � ����
���'��� �����
��
������'��� +������ 
 �����
�������'���� �	�	�	����� p1, ..., pn. ;�

����
��� -2- B 
 ���	�
�����'��� ��
�'$ I, 
�
����	� �
 ��
�
��� ����
�
q :− insert(p0). � ���	
��	 89 ��
'�	� +������ Φ = ϕ ∨ ¬p0. =�(�� �	(��
���	�'� ���[ (B, < {p1, ..., pn}, ∅ >, ∅) ∈ STABLE(PROG+) ↔ ϕ ∈ SAT. 7�	�
�����	�'��� SAT ≤pol STABLE(PROG+).

%.&J��#��� ������ ��� STABLE(PROG−) �
������ �� 
�	��$�	� ���	��
��	���#

)���� #� �	� 	�!�
 ��� B ∈ PROG− � 	�!��� ��������� �� E �	�����
 �� �����6����� ������	�����E
$1& B ��	����� δ−∃∃����!�	
��
 � E ;
$11& �� ������� ������ δ������������� ����������� ������� ���� � E ,

� ������
 ��������� ��������� ����������� ���6��"

-�� ����
��	�'
��� �	��� ��

������ 
�����'��$ 
���(� (D+,D−)��(���
���	���$ ���	�����$ 
 ����� ����	�	����� �	������� ��������� π :

ω : E0... Ei

π

�I E∗
i

D+
i ,D−

i−→ Ei+1... Ej

π

�I E∗
j

D+
j ,D−

j−→ Ej+1 ... .

3��
����� �	�	
 add−(π) ����	
��� �	� ������� �������	��� π, ������	
��	$�
� � D−, � ������� D̂+

j = ∅, D̂−
j = add−(π) \ Ej. =�(��� 	
�� �� ����


����� � ω ��
���	��	 E∗
j

D̂+
j ,D̂−

j−→ E ′
j+1 ��	
�� E∗

j

D+
j ,D−

j−→ Ej+1, �� ����	�
��
��� E ′

j+1 = Ej, �#	# �� �������� ��	��	��$ δ�
�����'��$ ���	�����$#
1
 ,��� �	��� � �	���  
�	��	�� ��� ��� ����	��� 
�����'��
�� ���


������� ��

��������' ���'�� 
���(� δ��(�����	���	 ���	������ ������ �	
��	��
�����	� 2 | B | .

�	����	 ��	��� � ���	���	���� %?&�%C& 
�	��$� �
 
����	�
���$��� �	���
��� ��	��� �	��	�� C ���	#

%?& K�6��� ������" )� �����	�� ��� �
��� ��
��
����	�� ����
���'���
������� ='$���(� M � ������� �(�����	���� ��������� p, 
�����
� 
�
����������'��	 ��	�� � STABLE(PROG). /�
�' {qj | 1 ≤ j ≤ k}∪ {qs, qf}
� ����	
��� 
�
������ M (q1 � �����'��	 
�
�����	� qs � 
���$���	�'��	 ���
��
��$�		 
�
�����	� � qf � 
���$���	�'��	 ���	�(�$�		 
�
�����	&# /�
�'
aj (0 ≤ j ≤ l) � 
������ ��+����� �	��� M (a0 � ��
��� 
�����&# /�
�'
x = ai1 , ..., ain � ������	 
���� � N = p(n) � (������ ������# 6�
�
�	�����'�
��� 
�(������ B 
�
���� �
 
�	��$��� !������ ��	�������5

� qj (1 ≤ j ≤ k);
� atj (1 ≤ t ≤ N, 0 ≤ j ≤ l) : ��	��� t 
��	���� 
����� aj ;

.0



� ht (1 ≤ t ≤ N) : (������ M �������
� � ��	��	 t.
A����'��	 
�
�����	 2- Ex = {q1, h1, a1i1 , ..., anin, a(n+1)0, ..., aN0} ������	�

�����'��$ ���+�(�����$ M.
-�� ������ ������� qjam → quavS, (�	 S ∈ {−1, 0, 1}, ���	�
�����'���

���(����� I 
��	���� N ����������5

g :− qj, ht, atm, change(qj, qu), change(ht, ht+S), change(atm, atv) (1 ≤ t ≤ N).

4���	 ,��(�� I ���$��	� ���� >
���$���	�'��$>��������$ g :− qs. /����
��� δ =< ∅, ∅ > � Φ =

∨k
j=1 qj ∨ qs. A	������ ����	���'� ��� M ����
��	�

x � ������ N ⇔ (B, δ, Ex) ∈ STABLE(PROG).
%C& K�6��� ������ ��� ,��(� 
����� ������	�
� 
 �����'$ ���
�������

�	��	��  %C&# L���
��	���	 ������	 
�
���� � ������	��� ���
����� ���	 >
��
��$���	�'���>��������� � I � �
���'
������ +������ Φ �
 ��	�����	(�
���	���	��� � ���	
��	 89#

%E& STABLE(PROD) �	��
�	���� �� ��� �	 ������	� ��� � �����	��
�	�
�	������
�� ��� PROD. �

+�
���� #�

$8& 4��!	��� STABLE(GDS) ��	����� PSPACE���	��
"
$:& 4��!	��� STABLE(FDS) ��	����� SPACE(2poly)���	��
"

��������	
����" K�6��� ������ 
�	��$� �	��
�	�
��	��� �
 ������ ��	�
��� ���	���	��� %?&�%C& �	��	�� ?#

1
 �	���  
�	��	����� 
��	
�������	 δ�
�����'��� ���	������ B, ���
����$�	�
� � ������ 
�
������ 2- E ,������	���� 
��	
�������$ 
���(�
δ̃��(�����	���� 
�����'��� ���	������# -��		� ��
���'�� ��
�� ��
������ 
��

������ 2-� ������	 ��(�� �
��	���'
� �� 
���(� δ̃��(�����	���� ���	����
����� ������$���
� � E ���	���� �� �� �$��� ����� 
�����'��� ���	������
���� �� ���� ����
����	 
�
�����	 Ei ������ ��������'
�# 7�	�����	�'��� ���

������� ����	���' ���' �����'��	 ���	
�� 
���(� δ̃��(�����	���� 
�����'�
��� ���	������� 
��	���$��	
� ������ ����
������ Ej, ��� ��� �	������(�
i < j Ei = Ej. /� �	��	 ? ������ ��(�����+������ �� ����� ���	������
����� �(����' � ����	���' � ����������'��� ������ ��� ��
�
��(� 
����� �
� ,�
���	����'��� ������ ��� ���
��(� 
�����# /� �	��	  �� ������� �	
�	 (������ ������ ��� ���	��������� ��(�����
���	���# =�(�� 
��	
���	�
�	�	�	������������� ��(������ �(�����$��� � ����	��$��� �����'��	 ���
�	
�� 
���(� δ̃��(�����	���� 
�����'��� ���	������ � ������� �(�����	����
�������� �� ��
�	�� ����� � ��
�
��� 
����	 � ,�
���	���� �� ��
�	�� �����
� � ���
��� 
����	# �

.N
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� �����	 ��	����	�� ����� ���	�' ���	��������(� ���	�	��� �	���������
��
 ������ � ���	�	�	�� �	������	 ������	��
���� 	(� �
�������
�� �� ���
���	��$ � ��
���	���� ��	��	� 
�	��# -��	 �	
'�� �����	���	 ����	���
����	�	���	 ����� ����
���$�� ��� ��
�����(� ���� �������	
��	 
�
�	���
�
�����	�
���$��	 
� ��	��	� 
�	���� ��(�� ���	�������'
� -2-� � 
����

��� �
�������
�� �� ���	�	��� ����� +�����������' � �

�	�����' � ��	��
���	���� �	������# )� ��

����	�� ��� 
���� 
����� 
���
��� �
�������(�
���	�	��� � �	�
�	������
�' � ∃∃�
�����'��
�'^\b � ����
���� ��� ��� ��
�
�	���� � ���	 ���

�� -2-� ���	�	
��� ��� ������	���# 7�	��	� ���	���'�
��� 
����	�
���$��	 ��(������ � ���	� 
����	 ���� ������$� 
� ���������
��'��	 ��	�� ��� �	
'�� 
���(��� �� ��
������� ��
����� �(�����	����� ����
����$�
� ���
���� ��(�������� ���� >�����������	�'>� ��	��$���� ,�
���
�	�����'��(� ��	�	�� ��� ������# =	� �	 �	�		� � �����	���� ����
���� ��
�
������ ����	 �	�	�	������������	 ��(������ ��(�� ���' �	���
����� ���		
,++	������# /�,���� �� ��	�����(�	� � ���'�	��	� ��
�������'� �
���'
��
��	����	���� ������� ���	��������	 ���(������	 �����	��	 ��� ���	�����
����� � �����
 ���	�	��� 
������ �������	
��� 
�
�	�#

������ ��
�' ,��� ������ ���	� ��
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